
Grade 5
Maths
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Convert cm to inch

a.	 1 cm = __________ inches

b.	 94 cm = __________ inches

c.	 72 cm = __________ inches

d.	 57 cm = __________ inches

e.	 65 cm = __________ inches

f.	 90 cm = __________ inches

g.	 58 cm = __________ inches

h.	 95 cm = __________ inches

i.	 66 cm = __________ inches

j.	 79 cm = __________ inches

k.	 19 cm = __________ inches

l.	 57 cm = __________ inches

0.39

To convert cm into inch you should multiply it by 0.39. 
Example: 3 cm = 3 x 0.39 = 1.18 inches


